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Introduction

* Fog Computing 1s an evolution from Cloud Computing. The development of Fog Computing facilities 1s key for the full scale deployment of IoT
environments, where VMs may move from host to host following the moves of their associated users.

*We want to achieve a formal algebraic general expression, by means of an abstract algebra called ACP, for the movement of VMs belonging to users
getting from the Cloud into a Fog environment, composed by a linear distribution of hosts (building blocks), such as a long avenue or a pipeline.
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